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Note : Four possibie answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D ¢ B A Questions / =Ur #
(a-b)> = .| (a+b)’ @ 15 a’-3ab(a-b)-b*=: Il
7 - 1 0 uP (@) Iud 226 P (x) < x—a A
If x—ais afactor of P(x), then P (a) =:
3 2 1 4 The e ad$uB L Spi e |
number of methods to find the H.C.F. are :
el dl o "ﬁf = | edde cbtF e :45,3/ b<erte |
Equal to cqual to | Greaterihanor | g than | The symbol < stands for
q 0 1 9 A linear :cL,VMgJ)K:,!;Vf V- 5
equation in one variable is of degree :
6
L trslsd LBsiA Ul (4+B)
4B 4+ B B! 4 e t/ Ul ( )
In matrices (A+B) =7 :
CM‘" ‘)g JNS - :c‘-(}//:w[---é,JG’JCI;JUJJ{J}UU@ 7
. y § The number of rows and columns in a
Determinant Columns Rows Order it determinedts -
Untd 7 s Ll 72 P e stinser | 8
G JM U Fe vl Two angles with :u,?Z.ll;vQ“_;U“,
Complementary Adjacent Supplementary Vertical common vertex and common side are
called ---- angles :
The sum of the angles of a triangle is :
The number of altitudes in a triangle is :
Bui sd B LTI e gLl e | 11
J"’L'Kéi = Lo #6210 | A line joining one vertex of a ; .7.,L’l};'/
Side bisector Median Altitude Angle bisector | triangle to the mid point of its opposite
sides is called :
4 3 2 1 I/‘;.L“ﬁ,?zﬁﬁf/}f&/)/ 2
A cubic polynomial is of degree :
360° 270° 180° 90° ey AV B
Angle in a semi-circle is :
W;J% b33 Vs L5 2 L Inthe etnlrac j2s”nftds L 14
Four points Two points Zero A unique point | plane with every ordered pair is associated :
A =d T Lt Points on the : ﬁ;,dﬂdg’ d/ ,Eﬁ{,/f <& 13
Fraction Value Ordinate Abscissa

negative x-axis have negative :
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( PART -1 Js12 ) .
12 2. Write short answers to any SIX (6) questions : : oL eAle A L ety (6){:431( 2
(1) Define rational expression. -’:f.’:/ .y S @

-é(}v Pr) L L 7= % sir=8 In P(ny=dzr* S1 GD

(ii) If P(r)=4xr? ,then find P (r) for r=38 and 7 = %2—

(ii1)  Solve by the use of formula : (x+y)> -1 S s Sur b Gid
(iv) Define linear polynomial. -é...é{ /7 d/ u} -7 Gk GV
(v) Factorize : Cry-xy-x ZE8E (V)

P(x) =2 102 +7x46, PG) & addd AL L858 o
(vi) Evaluate the polynomial for the value indicated P(x) = x -10x> +7x+6, P(3)

(vii) Define H.CF. A (vid
(viil) Find LCM. of : 18ab%c’, 6ab’c’ , 24ab’c’ (g e P1bots (Vi)

(ix) Find H.C.F by factorization : 3x°y% ,12x%py* | 15x°y* :;{(’b’dfgb‘g(ﬁiw (ix)

12 3. Write short answers to any SIX (6) questions : : o AR AL oy (6){6-‘3! 3
(i) Solve : 9x —3=3(2x - 8) =S @
(i) Solve: |2x-3]|=5 22 Gi)
(ii) Define linear equation. sy Sebia® (D
(iv) Solve by using factorization method : 3x2-8x—3=0 ZEFF 2 (V)
(v)  Solve : Sx=x>+6 2SS W)
(v1)  Define matrix. Sy (i)
(vil) Define zero matrix with example. Gty P SIB8 2 (vii)
534 -3 2 -1 5 . .
(viil) Find the matrix product : [ 4 1 j] [ ) 3} ZJ:/ (:L’" - AL ekUAE (viid)

(ix) Verify that given matrix is singular or non-singular : - . /{ gg./)L'..fJG'J,, 5osu0 S é.:fb‘ (%)

-a b
_ a b
12 4. Write short answers to any SIX (6) questions : : L apiz &L oty (6):;:-31/ 4

(1) Look the given figure and find angles ‘g’ and ‘h’ : g(’h" ‘Wl ‘g d:']uﬁgﬁfd} )
3

L Lo "
\K‘
(i) Define complementary angles. g/ J sl »/:4{'/ (D
(ii)) Define tangent of a circle. o lovles Gid

(Z'JA )




4. (iv) Find the value of x in the given triangle : Z é(}‘” ed $x uﬁ&ﬂ@iﬁ: G(v) 4

(v) Define medians of a triangle. E e bl el (V)
a=5,c=13,b="7 15 ¢ B B Fal_ah=ls (Vi)
(VD) Find third side of aright angle triangle where ‘¢’ is hypotenuse : a=35 , ¢c=13 , b=2
(vii) Describe the Pythagoras theorem, e e (Vid)
Sk Lo n b6 (7,-2),(=2.3)  (viiD)
(viii) Find the distance between pair of points : (7,-2),(-2,3)
(ix) Describe the location of point (7,-5) &k A58 ST, ~5)  (ix)
on the number plane.

(PART -1 /1,2 )

Note : Attempt any THREE questions . .éngf.:.myd :.(51( O
4 eedf Pt ) wl @D Irx=2493 S () 5
, x %
5. @ Ifx=2+3 » then find the values of (i) x—»~1~ (i) x? +~L2
% %
4 (b) Find H.CF. by division method : :25r 4 HCF. ke 3L 7 ()
X 43x-4,x3 - 2x% ~ 2x 43
4 b e ik dnzd, 0l S5 o2 S P =3 k-26 11 (D) 6
6. (@ If P(x) =3x> +hx— 26 is divided by x — 2 , find k , if remainder is ‘0’.
4 (b) Solve : gi~(2x~i-3)210~~%)£ 2L f ()
4 7. (@ Solve using quadratic formula : (3—4x) = (4x - 3)2 : éf.ffa.ug{{{duu (h) 7
4 (b)  Solve the simultaneous equations : 25 fe 3 L S Ufslosi 2 (L)
by the matrix inversion method :
3x+2y =10
2y-3x=-4
2 1 -1 2
4 8 @ If B= ,C= S 8
-2 4 4 2
then verify that : (BC) =C'B’ (BCY' =C'B' :Z i
576 2314BUVs 1 mBC =4cm sl mAB=3em SU?. AABC akil(] ()
4 (b) Inarighttriangle AABC mAB=3cm and -2 b st e UAC BA
mBC =4dcm with right angle at B. Draw a circle through A, B and C
4 -Un'/"f(f:/fﬁ /,,}.:6.’{’ 12 cwi,;éu’-éfk'JJKw,;fﬂl:?G M) 9
9. (@) Find the area of right triangle with legs 12 cm and 35 cm.
4 SUIBBBA C (7,3) 4 B (3,2) «A(-1,1) 58/t (L)

(b)  Show that the points A (=1, 1),B(3,2)and C(7,3)are collinear.
269-023-1-(Essay Type)-36000
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Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling

et {,)fm,yn )

Note :

two or more circles will result in

zero mark in that question.

B ¢ B A Questions / =iy i
S, S Je 4 S b A T A =g S| ]
Square matrix Transpose Syj;::ric Symmetric | If A" =LY , then A is called :
zr? WL
2 2 T - Area of a semi-circle is : e bw.3 615 id
2
AT LW |
Pl i g s IR 4.&»-@.9/:rubﬁk>~ga’£/£ubdr”(
Normal line Altitude Median Tangent ling | A line coplanar with a cir cle and ;%w‘f -y
touching the circle at one point only is called :
— ) 4
(0,1) (0,0) (1,0) 0 _ .ggq.,wai,w
The co-ordinates of the origin are :
3 2 1 0 : c".t')’lgn((j//?/&/)u d
A quadratic polynomial is of degree :
bl’ijgjlbff 4.//1)J~U’" W 4_//1))//(? IUJLML/IDLB/’;&J!;/dﬁb‘ 6
L1 - : .
Concyclic Equal y Concentrie C%rcles with equal radii and equal
; . Semi- circles . diameters are called :
points circles circles
S2 28 48 S :‘Lt’ﬁ,.?;Kn“S’ébﬁﬁd/({f 7
Area of square with side * S’ is -
18
0 +3 -5 3 i ARLEE
Solution set of | x | = 3 is :
_ P, o ser e 1m N
:11':)&/7 24l Lt v ‘Lt’/‘j:’,g L/fu/,/’élbu%u:dﬂf &
Ordinate Numbers Abscissa Set A pointina cartestqn plane determines
a umque ordered pair of :
A0 Eusyi_s¥ LA Sal e AL e QW el o EF IS 2l | 10
Right angled Scalene Equilateral Isosceles A triangle with no equal side is called :
e i ibonsg 8p2 ¢ 12p3q2 Il
12p% 24p°q? 24p%g 24pq* $ B .
LCM.of 12p7¢~, 8p~ is :
12
teesrfE 2t -9=0
{+3) (3 (+9) {9} e
Solution set of x> —~9 = 0is :
. . 113
B'A A4'B’ B A In matrices : (4B)' =9 :gw:‘b :
2(a*+b%) 4ab & 552 —4ab (a+b)*+(a-b)2= 14
. ‘ : “ . L s 15
4 BE Bl ;'(/4,!:31.@ L s by L2l
Non-collinear |  Collinear Concurrent | The medians of a triangle are :
270—023-11—(Objective Type)- 11500 (7268)
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(PART -1 J}l.ﬂ? )

12 2. Write short answers to any SIX (6) questions : : P etz A L ey (6){;&1( 2
_ZEekr e F Py L L x=0 Fxr P()=x* +3x2 =5x+9 J1 ()
(D) If P(x)=x*+3x* =5x+9 then find P (x) for x=0
(i) Define irrational numbers and giveAan ex@ple. sty e P g (i)

(ii))  Solve using formulas : (x+29) +(x—2y)? = A O A CT))
Gv) Factorize : ax+ay — 5% — xy 25."( 6/’ Gv)
(v) Write down remainder theorem. -éff:/ Ud B (V)
(vi) Factorize : 27%° +1 ZE6E (Vi)
(vii) Find H.C.F. by factorization : 14a*bc , 21ab® e P F s (vid)
(vii)  Find L.C.M. by factorization :  x%yz, xp*z , xpz? é ()” J" I3b21s3857 25 (ViiD)
(ix) Find the H.C.F of : 12p%¢% , 8p%qr® , 4p2q’r :é(#’r‘ﬁ}w 6)'9)
12 3. Write short answers to any SIX (6) questions : : o ez & L =iy (6){:.5/ . |
(1) Define linear equation in one variable. - Ew c’.«bl/&; Sl @D
(i1) Solve: 32x+5)=25+x 2 G
(ii) Solve |x+1]=5 2 Gid
(iv) Solve by using factorization method :  Sx=x%+6 égf J /2 2 (V)
(v)  Write quadratic equation in one variable. Eebla G L (V)
. +3 1 2 1 ;
(vi) Find x andy if : ¥ = Sk gl x (Vi)
~3 3y-4| |-3 2
. , 3 27 -1 5 . L
(vil) Find the matrix product : 4 { 3 2t 0 bduss  (vid
... -b " s
(viil) Find transpose of : €= [ ¢ g ] :é()’" st (viil)
c
(ix) Solve the inequality x—7 < 5 - 2x EfSend x-7<5-2x (%)
12 4. Write short answers to any SIX (6) questions : : L =4l /:? L =y (6){:._8.( 4
(1) Define right angle. S PS5 @)
(i) Define congruent figures. ey Sdef = Gi)
(i11) Define parallelogram. _25_@ Y S (i)

(&34
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4. (iv) Write down the angles marked with letters : : "4{(;’” uf:‘f it Ui b F D7 Gv) 4

(V) Define medians of a triangle. ol s lel W)
(v1) The diagonal of a square is -5"}1"‘,}'/(‘/’1-‘4 L8 14 2e6Y r (v1)

14 cm. Find its area.
A dUJC,L’/LJ’ éf(}’”/;&,k.uu,/b AU (vid
(vii) Find the hypotenuse of right isosceles triangle each of whose legsis ‘0’
(0,4):2 65 15 s Soe  (viiD)
(viii) Describe the location of this point on the number plane : (0,4)
(-1,3),(-2,-1)  :&Epb bl nl 4655, (i)
(ix) Find the distance between the pairsof points : (-1,3),(-2,-1)

(PART 11 #55.2 )

Note : Attempt any THREE questions . -&E.;uzégmruf c.‘j:r O
2 >
4 5 (@ Simplify : T A P A (h) 5
x“—4 xX—2 '
4  (b) Find the H.C.F. by division method : :éf:h" (}’; Il /’ﬁﬁj’ (o)
X +7x% +12x . x> - 2x% —15x
4 6. (a) Factorize : m® —n® : 2’:15/’ (3 6
4 (b) Solve and check : x+vVx—4=4 D EdepmEf (L)
4 7. (a) Solve by completing the square method : ES e plY /J—;“ ) 7
2 -10x-3=0
2 6 -1 -3
4 b) 1If A= ,B= S
7 8 2 0
‘ then verify that : (4B) =B'A’ (AB) =B'A' Zfo §
4 8. (a) Solve the equations by matrix :’ji:d'g,‘ﬁ;)’ﬁqﬁ’uﬁfu?bv (h) 8
inverse method :
4x+5y=0
2x+5y=1
4 UL U2 6 & e el L] (L)
(b) Drawan equilateral triangle with length of each side is 6 cm. Draw its altitudes.
4 4151050 AT Uts S ot S K e tin 12387 A 2549 S20 )0 (D) 9
N i;/d(&.liu%/d/d
9. (a) Find the area of a room 5.49 . m long and 3.87 m wide. What i is the
cost of carpeting the room if the rate of carpet is Rs.10.50 per m”?
4 ~UUL el NS LT C(0,-2)m B (3,-2)¢A(0,2) sBS 2t (L)
(b) Show that the points A (0,2),B(3,-2)and C(0,-2) are vertices of
a right triangle.
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